B M & & % B # M F

s 3 #F 7 H

60 77
RS

ERPH2E T, HEMTFZBVTEVITEE A
ETHREDIERICHES Ty BRICZE LTI ZES 0,

MLEICIE, ZERE, EEAE. FEtSlob oz L TIRVWITEEA.

fhDZERE DREKIC 725 KD %fTH. AV— b7+ VEOFHAKRORETSEZ L TIIVWITEE A
fRERIZ60 T . BHBHIZTEEH A

MIREFOR— V8L, 20%—ITT . EUDIIR—IEZHEDPOHTLZE W,

fRERMRIC, BESENEUKEA - T—7ENTLRBVMESICIE,. BER2TENE LV ET,
RERMO[1]0OMICIE. SRBESEZELEAL. BRESICHETIHFEI—TLTLIZS 0,
[2]DICIF. BRRZEERAL T &V, 2720, [3]0BIRMBEZRITRHOY—TBIFRECTT,
8 MEMTORAZZ. HEMEHALTLHBVIEAN, EOR-IBYVEELTIIVITIEA
9 MIEXFO [FEHFEEE] 3. BIHETRPH 258 2B0 T, FR29EXILFRIVESETRD
EEEEEE] 2RLTVET,
10 FEOARICOVTOERICIE—YIECEHEA.

N O o AW =

BELOER

1 AE BEXCHERROTEERERICKE > T BEMICY—7 LT ZE W, FEIINL T,
EZZ—D272FTY, SHSRICZIOULEY—I UEBSE>ERY E LT,

2 [The answer is: J X [REES o]l EFETRODARIIN LT, 3 EMRE
THEEITIE. RO (F) OXDIHEERS (1] OMERMOIC—7 LTLEE W,
iz R

(1) | ES
1]| 2eeav62®09 02

12



BEBDED
pele)

0

D
&S
16 el Hels pole. Kels Rele ele Hels Hole ek
BOEOECECELELEOEDED!
o yole. eols:Rele ele.pole:Hole Wele Hel
CEOECELELEOEDED!
pele\ylele.pols:Hele Wele Hels Hole ek
CECECELELEOEDED!
pele ylele.pols:Hole Wele Hele Hole wek
CECECELELEOEDED!
pele lele.pols:Hole Wele sele Hole wek
%@%@%@%@%@%@%@
pelexel o
CED &S
S o

%&%&%&%&%&%& pole ek
CECECECELELEOEDEDEDELELELE

%&%&%&%&%&%&%&

DS
GO
lo ele ¥
GO
1o ele ¥
DS
1o ele ¥
GO
1o ele ¥
BDES
1o ele ¥
DS

OGS
Fols:Hele ele fels Hole el Hels pole wele 2
POEOECELELELELEDED!
Jois:Hele ele Hels Hole el Hele pole el
P CECECELELELEDEDED!
Fols:Hele ele Hels Hole el Hele pole wele 2
P CEOECELELEOEDEDEDE
5205050050 520050 050 G50 OS50 O



Choose the most semantically appropriate word or phrase from among 1 to 4 in

order to complete each sentence.

[1] Students often mix words from their first language in with the language they are

learning when they have forgotten a term or do not know how to express themselves

in the second language. This is called ( ). The answer is: .
1 false cognate

2 code-switching
3 positive transfer
4

negative transfer

[2] In second or foreign language learning, ( ) is a process which sometimes

occurs in which incorrect linguistic features become a permanent part of the way

a person speaks or writes a language. The answer is: .
1 transfer

2 fossilization
3 silent period
4

negative feedback

(3] ( ) happens when interlocutors attempt to overcome problems in conveying
their meaning, resulting in both additional input and useful feedback on the

learner’s own production. The answer is:

1 Empathy

2  Demotivation

3 Strategic competence

4 Negotiation of meaning

(41 ¢ ) occurs when sounds are omitted from the pronunciation of a word,

usually because the omission makes the words easier to use in everyday speech.

The answer is: .

1 Elision

2 Reduction

3 Articulation
4  Assimilation



Choose the most grammatically appropriate word or phrase from among 1 to 4 in

order to complete each sentence.

(1]

Younger kids have acutely twitchy antennae when it comes to ( ) the

anxious mood of the older people around them. The answer is: .

1
2
3
4

(2]

read
reading
be read

having read

It’s not hard to imagine a future when scientists ( ) the problem we have

using helpers from the natural world. The answer is: .

1
2
3
4

(3]

solved
solving
have solved
had solved

) many people are protected by sea walls or other defenses, such as those

in the Netherlands, not everyone is. The answer is:

1
2
3
4

(4]

When
Until
While

Since

Smith’s novel offered American readers a small window into the daily life of a

Japanese family struggling to make ends ( ). The answer is: .

s W -

see
last
good

meet



Complete each sentence by arranging the words within each { } bracket. Then

choose the appropriate words to fill in the blanks indicated with numbers, such as
(@ )or ( @ ). Answer the most appropriate combination from among 1 to 4.

Note that there is an unnecessary word among the choices for each of the sentences.

(1] Students should not be excluded from opportunities to learn ( ) ( © )
( ) ( ) (@ ) that they do not have the academic ability to succeed.
{ language / the / grounds / another / on / step }
The answer is: .
1 @ language @ grounds 2 O another @ grounds
3 O the @ language 4 O grounds @ language

(2] Errors that ( ) @ ) ( ) ( ) (@ ) careful proofreading are

generally considered less acceptable.
{ could / been / have / by / mistakes / avoided }

The answer is: .

1 O been @ by 2 O have @ mistakes
3 O have @ by 4 (O mistakes @ by
(3] The interesting question now arises ( ) (@ ) ( ) ( ) (@ )

can use to make a successful display.

{ what / astudent / strategy / as / so / to }

The answer is: .

1 @®to @ astudent 2 @ so @ a student
3 O® as @ strategy 4 (O strategy @ a student

(4] The extent of the definition depends on the purpose of the paper, the level of
familiarity your audience has with the subject, and ( ) ( @ ) ( )
( ) (@ ) an agreed upon definition of the concept.
{ which / the extent / there / is / of / to }
The answer is:
1 @ there @ of 2 Oof @is
3 @is @ to 4 Oto @is



Answer the following questions.

(1] Choose the underlined word from among (D to & that is incorrect grammatically.

Answer from among 1 to 4. The answer is:

BRETIEONTOERADT, BEVELERA.

Adapted from Hayao Mivazaki’s flights Wings and prayvers
(The Economist, June 6t1-12t 2020)

1 @ 2 @ 3 ® 4 @



[2] Choose the underlined sentence from among (I to @ that is incorrect

srammatically. Answer from among 1 to 4. The answer is: ;

BRETAELNTOERADT, BHEVELERA.

Adapted from The View Opener (TIME August 3/August 10, 2020)

1 @ 2 @ 3 @ 4 @



[3]1 The following passage has an unnecessary clause or sentence that is logically

improper. Choose the unnecessary underlined clause or sentence from among

@D to @. Answer from among 1 to 4. The answer is: .

BRETAEOLNTOERADT, BHEVELERA.

Adapted from Peter Coy, One-year programs for those who feel the need for speed
{Bloomberg Businessweek, March 23, 2020)

1 @ 2 @ 3 @ 4 @



(4] Choose the most appropriate location from among { A }»to{ D }in which
to put the following sentence. Answer from among 1 to 4. The answer is: ;

BEBHAIIABEONTLEEADT, BEVLEEA,

BRETAEONTOERADT, BEVELERA.

Adapted from WHAT'S NEXT (National Geographic, July, 2019)

1T { A ) 2 { B » 3 {( C 2} 4 ( D »



Read the following passage, look at Figure 1 and Table 1, and then answer the

questions on page 10.

BRETABONTOERADT, BHEVELERA.



BEBHIABEONTLEHADT, EBEVLEEA,

Adapted from Fostsecondary Enrollment Before, During, and Since the Great Recession

(Erik P. Schmidt, United States Census Bureau, 2018)

— 90—



[1] Choose the most appropriate sentence from among 1 to 4 in order to fill in the
blank ( @ ). The answer is:
1T BEFALSFTOALTVEEADT, BHEVLEEA,

2 The number of undergraduate enrollments is always much bigger than that of
postgraduate enrollments.

3 Tigure | shows that college enrollment correlates with the unemployment rate.

4 During the Great Recession period, though the unemployment rate dramatically

rose, the college enrollment rate did not change at all.

[2] Choose the statement from among 1 to 4 that is not consistent in meaning with
the passage. The answer is: :

1 It became clear that people tended to study more to get academic degrees
during the recession period.

2 Table 1 indicates that the total college enrollment became highest in 2011,
but not all the levels of institutions accepted the highest number of students that
year.

3 Although the percentage of female students enrolled in all levels of college
was higher than that of males, it became lower during the recession compared
to the prerecession period.

4 Age was not a variable regarding the number of students enrolled in college
from the prerecession period, through the recession period, and to the

postrecession period.



A Blank Page



Read the following passage and answer the questions on page 15. Note that the four

paragraphs in the m in the passage are randomly arranged for Question [1].

BRETAEONTOERADT, BHEVELERA.



BEBHIIABEONTLEEADT, BEVZLEEA,

BEBHAIABEONTVEEADT, EBHEVLEEA,

BRETAEONTOERADT, BHEVELERA.

BEBHIIBEONTLEEADT, EBHEVLEEA,

BRETAEONTOERADT, BHEVELERA.



BRETAEONTOERADT, BHEVELERA.

Adapted from Helen Scales, MARCHING TOWARD EXTINCTION
{National Geographic, June, 2020)



(1] There are four paragraphs in the m in the passage. Put them into a

correct order and choose the most appropriate combination from among 1 to 4.

The answer is: .

1 A - C —- B —- D
2 B - D —- C —- A
i € =+ A - D —+ B
4 D - B — A — C

(2] Choose the most appropriate sentence from among 1 to 4 in order to fill in the
blank ( @ ). The answer is:
1 Dbut they are destined to become extinct

and humans sometimes hunt them for fun

BEHAISABONTLEEADT, BEVLEEA,

but not all penguins can survive under the severest weather

B W Mo

[3] Choose the statement from among 1 to 4 that is the most consistent in meaning

with the passage. The answer is:

1 In order to observe how climate change leads to the significant losses of
Antarctic sea ice, Stefan Christmann came back to the colony in the Atka Bay.

2 If we can keep the temperature from rising more than 1.5 degrees Celsius,
perhaps 80 percent of the colonies could be saved.

3 Most female penguins don’t come back to their partners and eat all food by
themselves because they require a lot of energy to produce an egg.

4 The chicks don’t have to swap their gray down for adult feathers because their

gray down is waterproof and they can swim in the sea after the sea ice melts.



Read the following passage and answer the questions on pages 18-19.

BEBHAISAEONTLEEADT, EBHEVZLEEA,



BEBHISABEONTLEEADT, EBEVLEEA,



BEFIABONTLEEADT, EBHEV-LEEA,

Adapted from Dana Rus, Creative Methodologies in Teaching English

for Engineering Students (Procedia Manufacturing, 2020)

[1] Choose the most appropriate phrase from among 1 to 4 in order to fill in the
blank ( A ). The answer is:

equip workers with skills

BEFASPEONTVERADT, BBV EZLEREA.

equip ESP teachers with teaching techniques

W B =

equip students with ability to read literatures

[2] Choose the most appropriate phrase from among 1 to 4 in order to fill in the
blank { B ). The answer is:
1 information literacy
2 a classroom-based approach

3 the traditional informative purposes

4 BEHFAIrFEONTVEREADT, BREVLEEA,



[3] Choose the statement from among 1 to 4 that is the most consistent in
meaning with the passage. The answer is:

1 Before and after the Second World War, the purpose of language teaching
had something to do with achieving social status or the ability to read classic
literature.

2 According to Dudley Evans, one of the factors of the definition of ESP was
about the methodology that ESP teachers use in their lessons.

3 Creative teaching strategies stimulate learners and facilitate their language
learning especially focusing on informative purposes.

4 It is the privilege for ESP teachers to teach future professional students to
have a communication skill using the second language as it is connected to a

futuristic society.

[4] A first sentence for each paragraph is shown below from A to D. Choose the
best combination from among 1 to 4 by filling in the blanks { 1 3 { 2 3},
¢ 3 Yand{ 4 ). The answer is:

A BEFAUFSEBLNATVERADT, BBV ELEEA.

B. #BFAHSBOATOLEREADT, BRVELERA,

C. BRI TVWEREANT, BEWL:LEEA,

D. HBHFAIIAEORTOLERADT, BBV LERA.

T €1) A 12 € {3% B (4% D
2 (1) B (2% D (3) C (4% A
3 {1} C {25 A (3% D {4 B
4 (1% D {2) B Lo o 1 (4% C



FEEEEHICEAT 2ROFMICEZ &

(R 1) w2 e B BN ERED [HE] o [WNE] KB [SHEEHRVEEEZIC
B9 2HE] 055, [GETZE [RPVEMD]] ICBWT, SHEEHLZELTEETS &
ESNTWVWAHHREICHET 2R E LTHEYZBDIE. RDO1~4D>50END, BREE
S| 26 | .

T REPRE., AN EOHFENZFEECHRNZFEICET 226 PHAL E 2
FMWT, MEPLPELAZILET DG, /2. TONEZEETHIT 51,

2 MBEZFEAPXTEINIHAENLFEEICETSIHHAZEZHEAT, 1 T XA MPE
H, MRGELSBLILaND, BRZ2LET 5. £, TORAFIIHT HEEP
HDEZ 2N 515,

3 HEMLFEEICEALTHVWEDRALZY LI ERPSIBBLIEARICEDE, ik
Mozl ERRUICE, BRI EREAT LT, HFELSOERITHN L TEY)

IBE L2V BESEM LIE LD 9 2158,

4 #HENZFEREICEHLTEHVWZORALZD LI ENSIEELINAICEDE, BT
B L7 X E2ER LA SOBETEN LD, BOOZEARKRF bR EZFE LI
D9 BIEH .

(M 2] SEPRFEREEHENEEO [HEEICHT 28BHICD R 21853 TEOMER ENED
BB 2B WT, IBEEEOERICYS 2 > T NP2 BT B8 E DI
HELZYPS, KETA2bDESINTVAHEELTHEYZHDIEX, ROT1~4D550
Ent. EES .

1 (G- RHEI] WFEAE LT, 2To%fIcEBSE. ZORMEIT 3 EMERS
TWHDETBHT &,

2 [232=4—YayHEEN] G [a32a=2F—Ya HEL] 2EBLERIC. [2
32—V avHEREN & [23a=F7—Ya VHEEN] 2BELERICEESES
CERFAIET B &,

3 [a3a=h—varvBiERE] 2BESE28E. 33227 —2a V3HEEI] &
[ZI2=F—2a VEERER] 2BBLEBRICEBSESZEZFAIET A &,

4 HEEIPTEFEICHNIEEEZRESELIEEBIC, BEEZEBOII2=Fr—2arD
BHET B0, WEFEETITOCLE2EARLT S, ZOE. ERROBROEEIZIL
ChEELZHNWSEHIICTHI L,



BEBDED
pele)

0

D
&S
16 el Hels pole. Kels Rele ele Hels Hole ek
BOEOECECELELEOEDED!
o yole. eols:Rele ele.pole:Hole Wele Hel
CEOECELELEOEDED!
pele\ylele.pols:Hele Wele Hels Hole ek
CECECELELEOEDED!
pele ylele.pols:Hole Wele Hele Hole wek
CECECELELEOEDED!
pele lele.pols:Hole Wele sele Hole wek
%@%@%@%@%@%@%@
pelexel o
CED &S
S o

%&%&%&%&%&%& pole ek
CECECECELELEOEDEDEDELELELE

%&%&%&%&%&%&%&

DS
GO
lo ele ¥
GO
1o ele ¥
DS
1o ele ¥
GO
1o ele ¥
BDES
1o ele ¥
DS

OGS
Fols:Hele ele fels Hole el Hels pole wele 2
POEOECELELELELEDED!
Jois:Hele ele Hels Hole el Hele pole el
P CECECELELELEDEDED!
Fols:Hele ele Hels Hole el Hele pole wele 2
P CEOECELELEOEDEDEDE
5205050050 520050 050 G50 OS50 O








